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UneAppli
ation:ProblèmedeHa
hage*
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*TypesdeDonnéesetAlgorithmes,C.Froidevaux,M.-C.Gaudel,

M.Soria.
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Danslasuite,nousproposonslemodèlesimplesuivant.Onsedonne

untableaudeha
hageà
mpla
es.Nousavonsununivers

Udes
lés.

Uétantdetailletrèsgrande,nousnepouvonspasa�e
teràtous

sesélémentsunepla
eattitréedansletableaudeha
hage.Onutilise

alorsunefon
tiondeha
hage
h,quiasso
ieà
haque
léunentier

dans

[1
,m

]:
h

:
U

→
[1

,m
].

Le
hoixde

hestfondamental:ilfautappliquer

Udemanièreaussi

uniformequepossiblesur
[1

,m
].Celarevientàdireque,dansle
as

idéal,ondoitavoir:

∀
x
∈

Uet
∀
i
∈

[1
,m

]
P

r
(h

(x
)
=

i)
=

1m
.

Onditalorsque

hestuniforme.Ilestaussisouhaitablequele
al
ul

de

hsoitrapide.

6

Nousdisonsqu'ilyaune
ollisionentredeux
lésdistin
tes

x
∈

Uet

y
∈

Usurla
ase

v,si

h
(x

)=
h
(y

)=
v.

Étantdonnéunensemble

Ede

n
lésdistin
tes,laprobabilitépour

qu'iln'yaitpasde
ollisionsentresesélémentsvaut:

P
=

1m
n
.m

(m
−

1
)...(m

−
n

+
1
).Cetteprobabilitéestpetitelorsque

mn'estpastrèsgrandparrapportà

n,
ommelemontrele
al
ul

suivant.
Paradoxed'anniversaire

Ensupposantquel'année
omporte365joursetquelaprobabilité

d'avoirsonanniversaireestlamêmepourlesjoursdel'année,
al
uler

laprobabilitépourque,dansune
lassede

nétudiantslesanniversaires

soienttousdi�érents.Cal
ulernumériquement
etteprobabilitépour

une
lassede
2
3étudiants.

7

Solution.Portantlavaleur
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